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PART -1

(1) GENERAL ENGLISH

Look at the possible meanings of the word,
PINNACLE given below. Choose the correct

meaning.

(1)  something of a very high standard and
excellent quality.

(2)  something of a very low standard and
deficient in quality.

(3)  the mostimportant or successful part of
something.

(4)  the most coveted and pricey part of a deal.

Improve the underlined phrase for clarity and
correctness by selecting the right phrase from
those given below to replace it.

If you lose your job, you will have to blame
yourself only.

(1)  will have only yourself to blame.
(2)  will have only to blame yourself.
(3)  will have only blame on yourself.
(4)  will blame only yourself for it.
One part of the following sentence may have
an error. Spot the erroneous part.
The train began to slow down/
1)
beyond Dadar/
2)
and when I reached to Andheri,/
3)
it had started raining heavily.
“)
Choose the word most nearly OPPOSITE in
meaning to :

Lassitude
(1)  affection (2) apathy
(3)  sprightfulness 4  dismay

Out of the given alternatives, choose the one

which best explains the underlined word.

Their bodies had suffered contortion as a

result of malnutrition.

(1) a series of attenuation and physical
debility affecting vision.

(2) the state of body being charred and
blackened beyond recognition.

(3)  the state of body being twisted out of
natural shape.

4)  dismemberment of bodily parts in slow
succession.

6.

10.

Complete the sentence given below by using the
correct form of the verb. Choose the correct
option from those that follow.

Reena her course in dentistry by

June 2019.

(1)  hascompleted 2)
3)  will complete (€))

could complete
is to complete

Improve the underlined phrase for clarity and
correctness by selecting the right phrase from
those given below to replace it.

Joe and May are in love. But they haven’t yet
formally declared their engagement.

(1)  openly stated
(2)  formally indicated

3)  formally announced

(4  openly declared

Complete the sentence given below by using the
correct form of the verb. Choose the correct
option from those that follow. I did not buy

anything at all because I of money
during my trip.

(1)  hadrunout (2) runout

(3)  haverunout 4  ranout

Look at the following possible meanings of the
word, RIFT. Choose the correct meaning.

1)  bend 2
(3)  breath “4)

breach
break

Choose the meaning that best expresses the
idiom, fly in the face of something.

(1)  todiminish and become rather too small
to be noticed on the face.

(2)  physically intrude and be pesky when
someone is very busy.

3)  float about in public places, especially the
waste, that should be disposed of.

(4)  tooppose, or be the opposite of, something
that is usual or expected.
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PART -1II / ¥mT-11
(1) Gen. Knowledge and Current Affairs / I I o GHATHIS T8

Where among the following countries was the

4th International Ayurveda Congress recently
held ?

(1)  Netherlands )
(3) India 4

U.SA.
Australia

Which of the following is the correct match of

the recently published books and
authors ?
(@  Ordinary People () Tim Winton
()  The Shepherd’s (1) Julian

Hut Barnes
(© The Only Story (i) Libby Page
(d  The Lido @iv) Diana Evans
Code:

@ ® © @@
@O v @ @
@ @@ W @ O
G w O @ @
@ o @ @ @)

The Aryan connection with Afghanistan is
indicated by the mention of following rivers in
the Rigveda :

(1)  Vipasand Vitasta

(2)  Asikniand Parushni
3) Kubhaand Kramu

4)  Parushniand Sutudri

Which among the following films received the
best feature film award in the 65th National
Films award announced in April 2018 ?

1) Mom

(2)  Village Rockstars
(3) BhayanaKam

4 Nagar Kirtan

What is the minimum age of eligibility for the
post of Vice President of India ?

(1) 40years )
(8) 65years 4)

50 years
35 years
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Which of the following is not an additional index
introduced in Human Development Index,
(HDI), 2010?

(1)  Gender Inequality Index (GII)

(2)  Multidimensional Poverty Index (MPT)
3)  Environmental Safety Index (ESI)

4) Inequality-adjusted Human

Development Index (IHDI)

Which among the following statements
regarding the Right to Property in India is not
correct ?

(1)  The Right to Property as a constitutional
right was inserted in the Constitution of
India through the Constitution (Forty
Fourth Amendment) Act, 1978.

Right to Property is a constitutional and
statutory right in India.

A person cannot be deprived of property
save by authority of law.

The expression Property in Article
300 A of the Constitution of India is
confined to land alone.

@
®)
@

Which of the following countries are separated
by ‘Durand line’ ?

(1)  China and Russia

(2) Indiaand China

3) India and Afghanistan
(4)  India and Pakistan

According to International Energy Agency data
of CO4 emissions from fuel combustion 2017,
which of the following countries has higher per
capita CO, emission ?

(1)  SriLanka 2
3) India 4

Qatar
USA

Which of the following is the main objective of
the recently unveiled robot submarine by the
Australian researchers ?

(1)  to hunt and kill the predatory starfish
devastating the Great Barrier Reef

(2) tofind out and destroy the rare species
of fishes in the Great Barrier Reef

(3)  to protect the Great Barrier Reef from
the invaders

(4)  to hunt and kill the blue whales of the

Great Barrier Reef
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PART -1II / ¥mT-11
(2) Reasoning Ability / difchen Srvgar

31.  Agroup of friendsissitting in an arrangement- | 31, fordt =azen # fis &1 T g IS ¥ - TS
each one at one corner of a Hexagon. Naresh is e .
sitting opposite to Tushant; Priyanka is sitting i A a;,@ FH AT A q
next to Sonal; Kavita is sitting opposite to Sonal o WA SI31 €; et W < Sk T 9t €
but not next to Naresh. Madhur has a person Sfgdr 9 & 9Ed 93t %, W 98 T &+ 3k
sitting between Tushant and himself. Who is T T A T TR ek T e =
sitting between Priyanka and Naresh ? Sar %:lrgrﬁ . %T'MT E;ST P SR aBT/gz; 3+
(1)  Madhur 2  Tushant g ® . ’
3)  Sonal 4)  Kavita @ wFE @ =

82.  Select the correct alternative from the given | 32, fr=fafgg § ¥ 39 WEr fawed =l gﬁ'&[ o9
ones that will complete the number series. = Joft ‘Iﬁ AR T
1, 13, 33, 61, 97, _? 1,13, 33, 61,97, 2
(1) 166 @ 118 1 166 @ 118
@ 133 @ 141 @ 133 @ 14

33. 9 21aRi o 9R g fed A €, o @ i v

33. Four groups of letters are given below, out of fordt e TH §EH T JefE T e i fim
which three are alike in a certain way while =N )
one is different. Choose the odd one. I e

1) GILPU 2 JLOSX
(1) GILPU 2 JLOSX 3  EGJMP @  ACFJO
3 EGJIJMP 4  ACFJO
34. fed SWHT 3R 5 foret. T =eran &, 79 98 IR

34. Rohit travels 5 km. North, then he turns right Hedl & @R 7 Tohel. e =refdl € | el =T <4 Hedl
and travels 7 km. Then he turns right and T 3R 8 Tl 9 Taar &1 T ae <& el T
travels 8 km. Then he turns right again and 3R 4 fFh 9% Tea@ | sl 0] e
travels 4 km. Finally, he turns left and travels v ’ § ) & J . 8
1km. In which direction is Rohit now from his 1 fereft. 7o l? URECRIEE N
starting point ? fag o frafem#82
(1)  South-East 2 East 1 < @ T
3)  West 4)  South-West @)  df=m @  sfor-ufeEm

C-6 SPACE FOR ROUGH WORK / 7% &T& & fo e 18A1



35.  Select the one which is different from the other | 35,  fr=fafad & 3§ T fawed &1 g =i i@ ™
three given alternatives. 71 9 Forredi § R
(6] 0 X X
|§§ Q|X 3' Q|O oo, | Ao | Alx | A
P | <P A AR e
A B C D A B C )
W D @ A ®» D @ A
3 B @ C 3 B @ C
36.  Apiece of paper is folded and punched as shown e . 5
below in the question figures. From the given 36. TSt 261 it et Fostf <5 3 : Bl
answer figures, indicate how it will appear when T E | HITS I GIeH Wﬂ:ﬁ% IS RIPACE TS
unfolded. ol # 9 fohm R o1 ot g <m 2
Question Figures
Answer Figures
o ©° o o o ° %% o®° o o o o o P % 000
° o o o ° o ° o o o ° o
o o o o o % ° 00° o o o o O %% o° 00°
1) 2) 3) 4) 1) (2) 3) )
37. If ‘x’ denotes ‘addition’, ‘+’ denotes | 87. &fg ‘x’ ‘S’ @I, ‘= ‘=@’ =l, ‘— ‘7O’ A
‘subtraction’, ‘—’ denotes ‘multiplication” and )
’ qer <+ ‘9r’ k1 gfud w8, @ Fefataa
‘+’ denotes ‘division’, then find the value of the i
expression given below. IO 1 HH TSy |
48+ 7—3x28+4="? 48+T7-3x28+4=7
1 48 @ 12 1 48 @ 12
@ 34 @ 37 @ 34 @ 37
18A1 SPACE FOR ROUGH WORK/WWQ?WW C-17



38.  Which of the following is related to Men’inthe | g8, fy=fefad °§ 9@ &1 ‘AT’ 9 39 TR e fia T
‘si;irfdes’gvay as ‘Ornithology’ is related to 59 TR ¢ eifeeiatet’ ‘ualt’ & Hefuq 2
(1)  Phycology ©  Anthology 1) RIS @ S
(3)  Anthropology 4  Archaeology ) TyTatatst @) amfharetst
39. How many triangles are there in the given . .
figure ? 39. o fed T o A fohaw fyst €2
®» 34 @ 20
®» 34 @ 20
@ 28 @ 32
@ 28 @ 32
40. TIfin a certain code language, ‘TRIANGLE is | 40- Tl 2 T &, ‘TRIANGLE' %1 FKHMBHSS,
written ‘FKHMBHSS’, then how is feran 7 2, 9l 36 %2 9o § ‘COMPUTER’ =i
‘COMPUTER’ written in the same code &g grR @ T &2
language ?
1) SDUTBPLQ @ REOCTUPM (1) SDUTBPLQ (2 REOCTUPM
3 DNNOVSFS 4 SDUTQLPB (3 DNNOVSFS 4) SDUTQLPB
C-8 SPACE FOR ROUGH WORK / % &Td & fo e 18A1
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PART -1II / M- 11
(3) Computer Literacy / sh#ZT AT

Amazon, Flipkart and Alibaba are examples
of :

(1) E-Commerce Websites

(2)  Product Review Websites

3)  Social Networking Websites
(4)  Banking Websites

MICR stands for :

(1)  Magnetic Integrated Character Reader
(2) Magnetic Ink Cases Reader

(3)  MagneticInk Code Reader

(4)  Magnetic Ink Character Reader

Which of the following options represent
correct pairing ?

@ MSWord @ Book writing
() MS Excel @)  Delivering
lecture
(¢ MSPowerPoint (1) Accounting
Code:
@ @O® (©
o @ o W
@ O @ @
@ O @ @
@ ® @O W

The output quality of a printer is evaluated in
terms of

(1) Dotperinch

(2)  Dots printed per unit time
3) Dotpersq.inch

4 All of the above

OCR is the acronym for

(1)  Optical Character Reader
(2)  Operating Character Reader
(3)  Operating Code Reader

(4)  Optical Code Reader

41.

42,

43.

44.

45.

USH, foerdente qen sreiiens fereer St € ?
1) 3-hid derETgd

@  ScE GHteT Jerdred

(3) TR Seafh dadrge

@) ST erErse

‘TSR T 31 ¥

1)  Frfes e hia it
@  Hfesw o HAS T

(3) HAfeH T s Tt

@)  Tfed I e Tt

forferfiad § B B 1 foreea wé 7 ) e
HATE ?

(@) THATE IS Q) & AEE
(b)  THTE TR (i) =AM
(©  THUH Yialdise (iii) NG
e

@ () (©
1H @) @ 0 @)
@ @ G 3
@ @O G (@)
@ @ @ 3G

forell feX =t 3T=eYe TUrE &1 fohd STTER W
TR fhan ST 8 2

1) eR¥dEE

@  ¥id e 3o § Hfsd Sie
@) eleyfasigm

@) IWE Tt
TR foprent GfaTa ®T § 2

(1)  siifeswe hige {et
@) AR HiaT Tt
(3)  SAfafeT @re I
(4)  3Nifieshd Tig T



46. Which of the following is not antiviruses’
software ?
(1)  MecAfee (2)  Quick Heal
3) F-Prot 4  Python
47. The phrase “burn the CD” means
(1) Readdatafrom CD
(2)  Destroy the CD
3)  Write new data on CD
4)  Copy data from CD and destroy it
48. Alightpenisa(n):
(1)  Electronic output device
(2)  Optical output device
(3)  Optical input device
4)  Electronic input device
49. A Gateway is used to connect computers
of :
(1)  two or more cable segments
(2) twoormore LAN’s
3)  twoor more WAN’s
(4)  twoor more different connection oriented
protocols
50. Fibre optic cable is used for :
(1) transmitting magnetic waves at high
speed.
(2)  transmitting data at high speed.
(3)  transmitting electrons at high speed.
(4)  transmitting electric signals at high
speed.
C-10
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PART - III / 4wt - 111
Education / fotam

‘Plus curriculum’ in the context of education of
children with wvisual impairment
means :

(1)  Side activities and experiences which are
worth while in themselves but not overtly
included in the curriculum.

(2) Curriculum of children with visual
impairment in special schools.

(3) Activities meant for providing
compulsory experiences/skills to visually
impaired children.

(4)  Activities relating to development of
social skills such as Braille writing,
orientation and mobility.

The main objective behind organising
co-curricular activities is to

(1) develop teams of children for various
school functions

(2)  follow school time table and calendar

(3) provide opportunities to children for
personality development

(4)  1mpress upon parents and authorities

Which type of curriculum is least formal in
nature ?

(1)  Activity Centred Curriculum
(2  Spiral Curriculum
(3)  Teacher Centred Curriculum

4)  Subject Centred Curriculum

In an assessment procedure the student gets a
feedback on his/her performance at the right
moment and not at the end of unit/topic is
known as

(1)  Assessment as learning
(2)  Assessment of learning
(3)  Assessment for learning

4)  Informal Assessment

51.
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55. Social development is essentially a matter of :
(1)  development of social skills
(2)  conformity to the demands of social order
(3) achievement of social security and

acceptance
(4)  the integration of one’s purposes with
those of the social order

56. In practice, the greatest contribution of
intelligence tests is to give an index of the
individual’s :

(1)  educational potentiality
(2)  specific aptitudes

3) academic competence
(4)  intellectual curiosity

57.  Which of the following is not a use of assistive
technology for disabled children ?

(1) It can remove the handicapping
condition.

(2) Itcanimprove access to environment.

(3) It can compensate the reduction in
experiences.

(4) It canincrease the mobility of children
with disability.

58. If a distribution has a few very high scores,
which of the following measures of central
tendency would be more appropriate to
use ?

1)  Geometric Mean
(2) Mean

3) Mode

4  Median

59.  Adjusting the support offered during a teaching
session to fit the child’s current level of
performance is termed as :

(1)  scaffolding
(2)  guided participation
(3)  seriation
(4  adaptation
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60.

61.

62.

(a)
(b)
(©
(d)

63.

18A1

Which of the following statements is
true ?

(1)  All classroom tests are reliable as well
as valid

(2) A particular test which is valid for one
purpose, is also valid for another.

(3) A test needs to be valid in order to be
reliable

(4)  Atestmustbe reliable in order to be valid

To what extent heredity effects

development ?

(1)  Heredity effects development subjected to
environmental variations.

(2) Heredity sets the upper limit of
development.

(3)  Heredity effects physical development
only.

(4)  Heredity hardly effects development.

In List-A the names of National and
International Acts, Declaration are given. In
List-B the years regarding these Acts,
Declaration is given. Match List-A with
List-B and give your answer from the codes
given under the Lists.

List-A List-B
International year of the @ 1990
disabled people
World Conference on ) 1992
Education for all
People with Disability Act (i) 1995
(PWD Act)

RCI Act Gv) 1986

Code:
@ Mm @© @

o O @) @ @

@ @ © @ G

@ G O @ @

@ @ @ @ O

The idea of educational technology does not

imply :

(1) Useof ICT only

(2) Use of computers and mobiles for
education

3)  Use of fossils for teaching

4)  Use of technology after industrial

revolution for education, only
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64. The active process of interference in previous
learning by subsequent learning is generally
known as :

(1)  confounding

(2)  retroactive inhibition
(3)  transference

(4)  repression

65. In non-directive counselling the

counsellor :

(1)  refersto clinical examination.

(2)  studies family background.

(3)  givesadvice as per her/his temperament.
(4)  takeslightly the counsellee’s problems.

66. If the strength of primary section Classes
Tto Visone hundred and sixty children, as per
RTE Act, 2009, what shall be the requirement
of the academic staff ?

(1)  Five teachers plus one head teacher
(2)  Four teachers
(3)  Four teachers plus one head teacher
4  Five teachers

67. The effectiveness of multimedia approach in
teaching can be answered through :
(1)  Longitudinal studies
(20  Experimentation
3)  Survey
4  Case studies

68. Mrs. Kanwar does not award her students with
treats or promises of extra recess time. Which
one of the following type of motivation is she
likely to encourage in her students ?

(1)  Goal Orientation
(20  Extrinsic

3) Intrinsic

(4  Locus of control

69. Inwhich of the following situations assessment

as learning is possible ?
(1)  Group test
(2)  Collaborative learning
3)  Group learning
4  Unittest
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70.

71.

72.

73.

74.

18A1

The connectionist view point recognizes
learning as:

(1)  reinforcement

(2)  patterning into unified whole
)  bond formation

(4 habit formation

According to National Curriculum Framework
(NCF - 2005) at which stage the assessment
must be purely qualitative ?

(1)  Whole of Upper Primary stage

(20 ECCE and Classes I and II of the
elementary stages

(3)  ClassesIIItoV of the elementary stages
(4)  Whole of Primary stage

What does principle of subsidiarity stipulate ?

(1)  ‘What can be done best at particular level
should be done at that level and not at
higher levels’

(2)  ‘Discipline must follow from higher to
lower levels’

(3)  ‘There should be enough freedom to work
available at each level’

(4)  ‘Success or failure must be the joint
responsibility of personnel at each level’

Which of the following do you associate to the
greatest extent with the education of the
Mentally Retarded (MR) ?

(1) Lathrine Coxmile
(2)  Christine Ingram
(3) Nancy Bayley

4)  Leta Hallingworth

Which one is the most comprehensive definition
of curriculum ?

(1) Learning from all desirable and
undesirable experiences in the school

(2)  Learning from syllabus and textbooks
(3)  Learning from co-curricular activities

4 Learning from games, sports,
co-curricular activities along with the
books
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75. Which is not a characteristics of summative
assessment ?
(1)  Outcome oriented
(2) More formal
(3)  Grades do not carry much weight
4  Inflexible
76. For whom an instructional plan is meant for ?
(1)  Teachers, students and parents
(2)  Teachers
(3)  Students
(4)  Teachers, students and educational
planners
77. Which of the following may not be a
characteristic of innovative educational
technology ?
(1) Low cost (2  Recent
3)  Novel 4  Original
78. Classroom transactions can be best improved
by :
(1) Prescribing penalties for poor
examination results
(2)  Strict implementation of rules and
regulations
(3)  Instilling self monitoring among teachers
4)  Community monitoring
79. Whatis the main recommendation of National
Curriculum Framework (NCF 2005) with
regard to examination in subjects of
Mathematics and English of Class X and XII
public examinations ?
(1) Passpercentage be fixed at 45 percent
(2)  Open book examination be introduced
(3)  These should be examined at two levels;
Standard and higher level
(4)  Examinations be postponed if students
are not ready
80. In a class of 50, a question was correctly
answered by 40 students. The difficulty value
of that question is:
@ 75 2 80
3 20 4 40
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81.

82.

83.

84.

85.

18A1

A systematic step by step, self instructional
programme aimed to ensure the learning of
stated behaviour is known as :

(1)  Micro-teaching

(2)  Open and distance learning
(3)  Systems approach

4)  Programmed learning

As Per RTE Act, 2009, what should be the
teacher-pupil ratio at Upper Primary
Stage ?

1O 1:40
@) 1:30

1:25
1:35

2
)

A question that reads as ‘which policy will result
in the greatest good for the greatest number ?’
relates to which of the following categories in
Bloom’s taxonomy of cognitive domain ?

) @
6)) (Y

Evaluation Application

Analysis Synthesis

To know the composition of a student’s
personality, a personal social adjustment
inventory is used. Which of the following
validity evidence is necessary for this
inventory ?

(1)  Construct validity
(2)  Concurrent validity
3)  Content validity

(4)  Predictive validity

Which one of the following is an easiest
available learning resource in existing Indian
classroom system ?

(1)  Library clubs

(2)  Textbook

(3)  Laboratory

4 Information and Communication

technology
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86. A good first step in grading essaysis to:

(1)  ask students to put their names on the
back of the paper

(2) ensure grading all responses to one
question before moving on to the next

(3)  construct a set of scoring criteria or a
rubric

(4)  arrange the answer scripts alphabetically

87. Inwhich of the following areas do deaf children
tend to show the greatest relative inferiority to
normal children ?

(1)  Personal and social adjustment
(2) Intellectual development

(3) Language development

4  Academicprogress

88. The basic reason why meaningful material is

learnt rapidly is that :

(1) it permits more effective transfer.

(2) thelearneris less likely to become bored.

(3) it is related to previous learning
(experiences) of the learner.

(4) it hascontinuity and meaning inherent
in itself.

89. Some Universities demanded the graduate
students to appear in final examination, in all
papers only once, at the end of a three year
degree course. This is an example of :

(1)  Continuous evaluation

(2)  Formative evaluation

(3)  Summative evaluation

4)  Comprehensive evaluation

90. A systematic collection of work, often include
work in progress, revisions, student self
analyses and reflections on what student has
learned, is better described as a:

(1) Journal

(2)  Portfolio

(3)  Exhibition

(4)  Scoring rubrics
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91.

92.

93.

94.

95.

18A1

What is the use of lesson plan for a
teacher ?

(1) It helps in systematically organising
content, method and evaluating
strategies for learning, in advance.

(2) It helps teacher in minimising his/her
craming of teaching concepts.

(3) It helps as a teaching aid in the
classroom.

(4) It helpsin learning of children through
simple to complex concepts.

Which of the following is not a characteristic
of indigenous teaching aids ?

(1) Made from commonly available material
(2) Lowcost
(3)  Locally developed

4)  Developed through household material
only

The software approach in teaching and learning
to shape behaviour is termed as :

(1)  Cybernetics

(2) Programming

(3)  Systems approach

(4)  Instructional technology

The best kind of organizational climate can be
found in the administration which is
characterized as

(1)  Laissez-fair 2
(3)  Democratic 4

Autocratic

Participatory

Information and Communication technology as
a source of learning does not find much favour
with teachers because :

(1) it is not favoured by educational
administrators.

(2)  itiscostly.
(3)  itcreatesindiscipline among learners.

4)  itdemandsa minimum of technical know
how to work with.
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96. If a teacher wants to select top few students
that can be admitted to a special program, which
of the following tests would be more appropriate
to use ?

(1)  Standardized test

(2)  Norm-referenced test

(3)  Criterion-referenced test
(4)  Formative test

97. What is the most important thing in the
identification of appropriate resources for
running the school effectively ?

(1) Keeping record of all situations
throughout the year to help extrapolation

(2)  Utilizing previous experiences

(3) Involving experienced teachers about
managing these resources

(4  Need assessment

98. Continuous and Comprehensive Evaluation
(CCE) implies :

(1)  Trimester based examination system

(2)  Cumulative assessment of all learning
activities throughout the year

(3)  Semester based examination system

(4  Year end annual examination system

99. Whatis the greatest disadvantage of restricting
the use of library to one period a week ?

(1) It could be better utilized for enjoying
nature or playing in the ground.

(2)  One useful period is snatched away from
study of important subjects.

3) Seldom allows children to cultivate a
taste for reading.

(4)  One period is wasted in looking at books
only.
100. Textbook can be a strong source of learning if:
(1)  itsavailability to studentsis ensured well
in time.

(2)  itis written in simple language.

(3) it has attractive layout and pictures.

(4)  its content is discussed with examples
in an interesting manner.
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PART -1V / ¥TT-1IV
Admin and Finance / 99T9F Td fa=

At which rate Travelling Allowance is
admissible to a kidney donor who himselfis a
Government Servant ?

(1) T.A.atthe rates applicable to the donor
Government servant

(2) T.A.atthe rates applicable to the donee
Government servant

(3)  Higherof (1) and (2)

4  Lowest (1) and (2)

If an assesse’s dependent is suffering from
serious disability, an amount of :

@ 50,000

2 75,000

3)  7.5% of taxable income
(Y] 31,25,000

is deductible from the taxable Income as
Per Finance Act, 2018.

On which of the following leaves, a Govt.
Servant cannot take voluntary retirement ?

(1)  Casual Leave

2 EL

3) HPL

4  Commuted Leave

Which of the following is not correct with
regard to the complaints committee for
prohibition of sexual harassment of working
women ?

(1) It should make a monthly report to the
Government department concerned of the
complaints and action taken on it.

(2) Itshould be headed by a woman

(3)  Notless than half of its members should
be women

4)  Itshouldinvolve a third party, e.g. NGO

etc. who is familiar with the issue of
sexual harassment.

How much advance of approved CGHS package
rates is admissible to Government servant
under CS(MA) Rules and CGHS Rules for all
indoor treatments subject to prescribed
conditions ?
1  100%
@  75%

50%
90%

2
)
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102.

103.

104.
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T AT 9 T SHSR BT 2

(1)  Thal SRl SHHARI ol ST AT 9l
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@ ()T (Q)HE AR

fe fordl e o anfEa TR Sumar 9 ufed §
a1 f=1 § 9 fom sifuftam, 2018 & Sfaria ferat

T SHH! HULH 31T T TRl ST Fehal & 2
1)  ¥50,000

@  %75,000

(3)  HUH 3T H 7.5%

@  %1,25,000

TTH H A G2 T g TR AR Wifesh
Qe =T ot ehell ?

(1) AT TR

@  fsia g

(3) 3T I AR

@)  uRafda s

S et Afgenell & A9 Scdted & fay 9
Heiferd e wftifa & s o o1 9l T &2

(1) I¢ gfhfd Safyd TR faum i e
3R TR F T FrEiERr W Afdgs ol
ST |

(2)  TUH! 37T Uk Afget &l |

(3) U Y FH MY T Afeer B |

@) 399 T g e, S R oTRen Heen

1 FHEY B S AW ScdreT & fawa H
ElgEarikee ikl

TWHR FHARI &l g gan (Fafeman af=mr)
Tl T g TR TR T ANl & A
gt wefl ST=R ?9 TgHIfed HYe X A ferel

A il BT R ?
1)  100% 2 50%
B3 5% @  90%
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110.

Which of the following has been excluded from
the definition of goods and service ?

(1)  Telephone Services

(2)  Supply of Electricity

(3)  Transportation Facility
(4)  SaleofLand

The combined total period of medical attendance
by authorised medical attendant/specialist
should in all jointly be limited to :

(@))] 3 Days 2 30 Days
3) 10 Days 4 5 Days

Which of the following is not correct ?
No Government servant shall except with
previous sanction of the prescribed authority :

(1) sell any immovable property to any
foreigner

(2)  acquire any immovable property outside
India

(3) dispose of any immovable property
outside India

(4  acquire any movable property

Which is not correct about MACP ?

(1)  The Bench mark is “good” upto the Grade
Pay of ¥ 7,600 (Level 12 in pay matrix).

(2)  The cases are to be considered in advance
in January and in July of each year.

(3) It doesnotentail any designation.

4  Itisnotbased on hierarchical structure
but level in the pay matrix.

Which of the following is not correct in relation
to, “Electronic Reverse Auction” ?

(1)  Effective competition through existing
competitive market is ensured

(2)  Processing entity should have detailed
description of the subject matter of the
procurement

(3)  Total value of procurement should not
exceed ¥10 lakh

(4)  Criteria for selection are quantifiable and
can be expressed in monetary units
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112.
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Against which of the following orders, a
Government Servant is not permitted to prefer
an appeal ?

(1)  Reversion to alower post while officiating
in a higher post, otherwise than as a
penalty

(2)  anorder of suspension

(3)  anorder enhancing any penalty

(4 anorder of transfer

Is it true that the Disciplinary Authority may
itself inquire or appoint an Inquiring Authority
if no defence statement is submitted by the
charged officer in response to the charge
sheet ?

(1)  While the Inquiring Authority can be
appointed, the Disciplinary Authority
cannot inquire

2  Yes

3 No

(4 While the Disciplinary Authority can

inquire but cannot appoint Inquiring
Authority

What is the entitlement of a freshly recruited
Govt. Servant during first 8 years of service ?

(1)  First 4 concessions to Home Town and
next 4 concessions to anywhere in India

in a block of 8 years.

Two concessions to Home Town and 3'd
and 4th to anywhere in India in a block
of 4 years.

@

(3)  Three concessions to anywhere in India
and 4th to Home Town in a block of

4 years.

Three concessions to Home Town and 4th
to anywhere in India in a block of 4 years.

@

In International travel, an officer drawing pay
in Pay Matrix 13 and below is entitled to which
of the following classes by Air ?

€)) @
3) )

First class
Club class

Economy class

Business class
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115. Which of the following if occur in relation to
any act of sexual harassment may amount to
sexual harassment :

(@  Promise of preferential treatment in
employment.

() Threat of detrimental treatment in
employment.

(© Threat about her present or future
employment status.

(d  humiliating treatment likely to affect her
health or safety.

Code:

@ (@), (), (c)and (d)

@  (a), (b) and (c)

@)  (a), (b)and (d)

@ (b),(c)and (d)

116. Which is not true regarding Service Book ?
(1) Ifitislost, a Govt. servant can replace it

by payment of T 50.

(2)  Service Book should be maintained in
duplicate.

3) Employees who entered in service before
1st July, 2005 cannot have a copy of
Service Book.

(4) It has to be updated in January each
year.

117. Ifapenalty of withholding of the next increment
isimposed for a period of three years, how many
increments will be withheld ?

1) four (2) one

3 two 4)  three

118. Under which of the following circumstances
rejection of all bids is not justified ?

(1)  Minimum three quotations were not
received

(2)  None of the technical proposals meets the
technical qualifying score desired

(8)  There islack of effective competition

4  None of the bids is substantially
responsive to the requirements

119. Which of the following is inadmissible in
transfers for short periods not exceeding 180
Days ?

(1)  Actual journey time

(2)  Fare from Headquarter to the station of
short period transfer

3) D.A.forfirst 180 days

4)  Joining Time
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120.

121.

122.

123.

124.

18A1

Medical examination should be done at the time

of appointment by :
(1) Medical Examination is not required if
the appointment is not likely to last for

6 months.

Medical Board in the case of Gazetted
Govt. servant.

Civil Surgeon/District Medical Officer or
equivalent in the case of non-Gazetted
Govt. servant

@

®)

4  Female Civil Surgeon/District Medical

Officer in the case of female Govt. servant

Which one of the following is not correct ?

(1) A Govt servant can be on EOL on that
day.

(2)  Govt. servant has to be on duty on the
day of superannuation.

3)  Govt. servant has to be on duty during
the forenoon of the day of superannuation.

4)  Govt. servant can be on 1/2 day C/L

during first half of the day of Retirement.

What is the limit for purchase of goods without
inviting quotations as per General Financial
Rules?

(1)  No limit prescribed but reasons to be
recorded

(2) 25,000 1in each case

3) ¥ 2,50,000 in each case

4  ¥50,000in each case

Which of the following is not included in
Category-1 of the list of family for payment of
gratuity in case no nomination submitted ?

(1)  Daughter

(2) Widowed daughter
3)  Father

4  Son

D.A. on casual leave while on tour is admissible
at the rate of :

1 100%
@)  30%

NoD.A.
70%

@)
)
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125. For travel by shared taxi, the entitlement would
be actual share limited to :
(1)  three-fourth of the mileage otherwise
admissible
(2) one-fourth of the mileage otherwise
admissible
(3) one-third of the mileage otherwise
admissible
(4)  halfthe mileage otherwise admissible
126. Which one of the following is not correct about
Joining time ?
(1)  Joining time can be combined with Leave
(2)  Unspentperiod is credited in EL account
(3)  For predeparture formalities for going
abroad, no transit time is allowed
(4)  Leave is not required to be availed for
journey by travelling within intervening
holidays
127. What is the limit upto which a group A
Government servant can receive gift subject
to fulfilment of laid down conditions on such
occasions as weddings etc. when the making
of gift is in conformity with the prevailing
social practice, without reporting to the
Government ?
(1) 35,000 2 10,000
3 15,000 4 25,000
128. Voluntary Retirement is the right of a Govt.
servant if the Govt. servant :
(1)  gives anotice of 3 months after rendering
30 years qualifying service.
(2) makes an application after rendering
20 years of service.
(3)  requeststo Govt. to join another post.
(4)  1sunder suspension and inquiry has not
commenced.
129. Which of the following family members of a
govt. servant is not eligible for LTC ?
(1)  Divorced dependent daughter
(2)  Dependent step father
(3) Dependent son aged 30 years
(4)  Dependent child of widowed sister
C-26
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Retirement Gratuity for a Govt. servant who
has completed 8 years of service is :

(1)  Half of emoluments of 8 years of service
(2) 10 times of emoluments
(3) 16 times of emoluments
(€)) 12 times of emoluments
The Constitutional Amendments for

introduction of GST in India were made fully
effective from 16.9.2016. Section 19 of the
Amendment Act, 2016 allowed the transition
period, for switching over to GST required,
for :

(1)  Five Years (2)  Sixmonths

3) Twoyears 4  OneYear

Central Services (Medical Attendance) Rules do

not apply to:

(1)  Retired Government Officials

(2)  Aprobationer

(3)  Apprentices who are in whole time service
of Government

4  Central Government servants on
terminal leave

The performance security in case of contracts
for supply of goods can not be furnished in which
of the following form ?

(1) Bank Guarantee from a Commercial
Bank

(2)  Account Payee Demand Draft

3) Cash

4  FDRfrom a Commercial Bank

Which of the following is not correct ?
No Government servant shall except with
the previous sanction of the Government :

(1)  undertake any other employment

(2) engagein any trade or business

(3)  negotiate for any other employment

(4)  undertake honorary work of a social

nature

CCS (Pension) Rules are applicable to one of
the following :

(1)  Daily rated employees.

(2)  Persons paid from contingency.

(3) Persons who were inducted in civil
service of the Govt. before 1-1-2004.

(4)  Persons employed on contract basis.
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136. A serving Government Servant can act as
Defence Assistant in a maximum of how many
cases at a time ?

@ 7 @ 2
@ 3 @ 5

137. The NPSis based on the principle of :

(1)  The benefit as accrued on the investment
as opted by a Govt servant.

(2)  Defined benefit

(3)  Defined contribution

(4)  The benefit may depend on the market
conditions of investment

138. Which of the following does not amount to a
penalty under Rule 11 ?

(1)  Withholding of increments

(2)  Withholding of promotion

(3) Premature retirement  under
FR 56(j)

4)  Compulsory retirement

139. Asper General Financial Rules, 2017 a Ministry
or department should not prepare a list of likely
suppliers of non-consulting services on the basis
of which of the following ?

(1)  Yellow pages

(2)  Websites

(3)  Trade Journals

4)  Eligibility conditions formulated by the
Ministry or department

140. IsLTC admissible to a Govt. servants on “Study

Leave” ?

(1)  Only to self subject to conditions

(2)  Yes, subject to condition

(3)  Only to the family subject to condition
(4  Not admissible

141. Which of the following is not admissible as per
Transfer T.A. Rules ?

(1) T.A.for family member added after the
date of transfer

(2) Road mileage for journey performed by
Road

3) T.A.forself

(4)  Cost of transportation of personal effects
from residence at old station to residence
at new station
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In case of bids for consultancy services which
of the following is correct if “Two bid” system
has been adopted ?

(1)  Technical bid of only the lowest financial
bidder should be opened

(2)  Financial bid should be opened first

(3)  Both the Financial and Technical bids
should be opened together

(4)  Technical bid should be opened first

Which one of the following is not correct about
special casual leave ?

(1) It can be given for participation in
national level sports.

(2)  Itcanbe given upto 30 days in an year.

(3)  Itcanbe given for international sporting
event.

(4)  Itcannot be given for cultural activities.

Which of the following is not defined as “Goods”
as per GFR’s ?

(1)  Vehicles

(2)  Intangible products
(3)  Books for library
(4  Livestock

What is the admissible amount of fare for a
non-entitled Govt. Official travelling by air in
private airline on LTC ?

(1) LTC-80fares

(2)  Actual air fare

(3) Not admissible

(4)  Restricted to entitled class by rail other

than Rajdhani/Shatabdi Express

A male child of a Government servant is allowed
to receive medical attendance and treatment

in a recognised women’s hospital till the age
of :

@®
®)

2
@)

Six years One year

Three years Five years
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147. Which one is not correct about grant of
increment ?

(1)  Ifitis withheld, the period is required to
be mentioned.

(2)  Itshould be drawn as a matter of course.

3)  Itshould be drawn as a matter of right.

4) It can be withheld by following the
required procedure.

148. Which of the following is not a permissible
way of filing of return of a person having income
chargeable to “Salaries” ?

(1)  Furnishing return electronically under
digital signature

(2)  Furnishing return in paper form to his
employer

(3)  Furnishing paper return to Income Tax
Office

(4)  Furnishing paper return to CPC of
Income Tax

149. An employee in receipt of a salary of
20,000 p.m. and allowances of ¥ 10,000 p.m.
has been granted entertainment allowance of
36000 p.m. What amount will be exempt from
Income Tax under Entertainment Allowance ?
1) %5000 2 2000
3 ¥3000 4  T4000

150. A Govt. servant is 24 hours a Govt servant.
Which of the following best explains it ?

(1)  Govt. cannot employ him in a post where
he is to get remuneration from the funds
of a body controlled by the Govt.

(2) Concept is misinterpreted. In actual
whole time of the Govt. servant is at the
disposal of Govt

(3)  There is no sanctity of office timing.

4)  Govt. may not require him to employ in
any manner.
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READ CAREFULLY THE FOLLOWING INSTRUCTIONS

1.
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11.
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15.
16.
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10.

11.

12.

13.
14.

15.

16.

The manner in which the different questions are to be
answered has been explained in the Test Booklet which
you should read carefully before actually answering the
questions.

Out of the four alternatives for each question, only one
circle for the correct answer is to be darkened completely
with Black/Blue Ball Point Pen on Side-2 of the OMR
Answer Sheet. The answer once marked is not liable to
be changed.

In case of any discrepancy in the English and Hindi
versions, English version will be taken as final.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray mark on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet Code or Number and Answer Sheet Code or
Number), another set will be provided.

The candidates will write the correct Test Booklet Code
and Number as given in the Test Booklet/Answer Sheet
in the Attendance Sheet.

A machine will read the coded information in the OMR
Answer Sheet. Hence, no information should be left
incomplete and it should not be different from the
information given in the Admit Card.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card, Black/Blue Ball Point Pen and ID Proof inside the
examination hall/room.

Mobile phones, wireless communication devices (even in
switched off mode) and the other banned items should
not be brought in the examination halls/rooms. Failing
to comply with this instruction, it will be considered as
using unfair means in the examination and action will be
taken against them including cancellation of examination.
Each candidate must show on demand his/her Admit
Card to the Invigilator.

No candidate, without special permission of the Centre
Superintendent or Invigilator, should leave his/her seat.
The candidates should not leave the Examination Hall/
Room without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. The candidates are also required to put their
left hand THUMB impression in the space provided
in the Attendance Sheet and affix his/her photo at
prescribed space.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by all Rules and Regulations
of the Examining body with regard to their conduct in
the Examination Hall/Room. All cases of unfair means
will be dealt with as per Rules and Regulations of the
Examining body.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand
over the Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away
this Test Booklet with them.
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